Snow White wanted to know the mean height of the Seven Dwarves. So one day she measured them all as they left for work and calculated their mean height (correct to one decimal place) as 112.3 cm. Doc complained that she had left him out and measured Dopey twice without him noticing. If Doc is 3 cm taller than Dopey, what is the mean height of the Seven Dwarves?

Solution
The sum of the total heights of all 7 dwarves is 112.3 * 7 = 786.1 cm.
If Doc is 3cm taller than Dopey, and Dopey was measured twice, then we need to add another 3cm to the total heights sum. This makes the correct total heights 789.1 cm.
To find the correct mean of the Dwarves heights divide 789.1 cm by 7.
The solution is 112.7 cm.

This is my solution thanks!
